CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - ARIHANT MATHS (HINGLISH)

APPLICATIONS OF THE INTEGRALS

Frequently Asked Questons Fags Example
2

1. Find the area enclosed by the circle 2% + y? = o’

o Watch Video Solution

2. Find the area of the parabola y? = 4azbounded by its latus

rectum.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hTICxBnj77TK
https://dl.doubtnut.com/l/_4uMocVuC6yHW

[ @ \Watch Video >olution ]

3. Find the area of the region bouonded by

y? = 4z, z = 1, z = 4 and x-axis in the first quadrant.

° Watch Video Solution

4. Find the area of the region bounded by the curve y = z?and

the liney = 4.

° Watch Video Solution

2 2

5. Find the area enclosed by the ellipse m_ + zz =1

° Watch Video Solution



https://dl.doubtnut.com/l/_4uMocVuC6yHW
https://dl.doubtnut.com/l/_KOcSKQno18j8
https://dl.doubtnut.com/l/_AeQdm2Ofwf33
https://dl.doubtnut.com/l/_yUzl4z3fhzAu
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6. Find the area bounded by the ellipse $—2 + Z_Z =1 and the
a

ordinates T = ae and xz =0, where

b? =a2(1—e2) and e < 1.

° Watch Video Solution

7.Find the area bounded by the region given by:

m2

2
Y x Y
A= : t— + — < -+ -
{(w,y) (z,y) 9 <1< 5 3}

ot

° Watch Video Solution

8. Find the area of the region in the first quadrant enclosed by

the x-axis, the line y = , and the circle 2% + y? = 32.

° Watch Video Solution



https://dl.doubtnut.com/l/_K3FKuM0pq4LU
https://dl.doubtnut.com/l/_2xsVlR1CuLXo
https://dl.doubtnut.com/l/_KAIdWvpX8g4V
https://dl.doubtnut.com/l/_XH9Oz0jTbg1y

9. Using integration, find the area of the triangle ABC whose

vertices are A( — 1, 1), B(0, 5) and C(3, 2).

° Watch Video Solution

10. Using the method of integration, find the area of the

triangular region whose vertices are (2, — 2), (4, 3) and (1, 2).

° Watch Video Solution

11. Using the method of integration, find the area of the region
bounded by the lines

3r — 2y+1=0,2x+3y — 21 =0andz — 5y+ 9 =0.

° Watch Video Solution



https://dl.doubtnut.com/l/_XH9Oz0jTbg1y
https://dl.doubtnut.com/l/_76DQA42bl9Hm
https://dl.doubtnut.com/l/_SJ2NXlSMGuEa

12. Find the smaller area enclosed by the circle z? + y* = 4 and

thelinex +y = 2.

° Watch Video Solution

13. Find the area of the region enclosed between the two circles:

22 +y? =4and (z — 2)® + 2 = 4.

° Watch Video Solution

14. Using integration find the area of the region bounded by the

parabola y?> = 4 and the circle 4% + 4y> = 9

° Watch Video Solution



https://dl.doubtnut.com/l/_Q5n4Kfdp2uKu
https://dl.doubtnut.com/l/_sS6itIe9FfVt
https://dl.doubtnut.com/l/_r2YqK9nEtYag

15. Find the area, lying above the x=axis and included between the

circle z2 + y? = 8z and the parabola y* = 4z.

° Watch Video Solution

16. Find the area of the region included between the parabolas

y? = dazandz® = 4ay, wherea > 0.

° Watch Video Solution

17. Draw a rough sketch of the curves

v =2+1and y? = —z+1 and find the area enclosed

between them,

° Watch Video Solution



https://dl.doubtnut.com/l/_JyMvLX5QnW0J
https://dl.doubtnut.com/l/_QLYixgmNaO04
https://dl.doubtnut.com/l/_2ps3ZN0rn4Ea
https://dl.doubtnut.com/l/_NijCkqrHZTkI

18. Find the area of the region bounded by the curces:

y=6x — 2z and y = z? — 2z.

° View Text Solution

19.Find the area enclosed by the parabola 4y = 3z and the line

2y = 3z + 12.

° Watch Video Solution

20. Find the area bounded by the curves y = \/z,2y+3 ==z

and x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_NijCkqrHZTkI
https://dl.doubtnut.com/l/_qVmAU9TmuX1X
https://dl.doubtnut.com/l/_ECb0pyW5cJCV

21. Find the area of the region bounded by the curves y = z? 4 2

,Yy =z, = O0andz = 3.

° Watch Video Solution

22. Sketch the region bounded by the curves y = /5 — % and

y = | — 1| and find its area.

° Watch Video Solution

23. The area of the triangle formed by the positive x-axis with the

normal and the tangent to the circle 2% 4+ y? = 4 at (1, \/§) is

° Watch Video Solution



https://dl.doubtnut.com/l/_OK9Z8WVW6ZaX
https://dl.doubtnut.com/l/_8sjmYhONaOJ1
https://dl.doubtnut.com/l/_fv5y2C92SARo

24, Sketch the graph of :

{\:1:—2|—|—2,m§2
$2—2,$>2'

f(z) =
4

Evaluate / f(x)dx. What does the value of this integral
0

represent on the graph ?

° Watch Video Solution

1. Using integration,

(i) find the area of the first quadrant of the circle :
(ii) find the area of the circle :

z? + 1 = 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_7bf03sXupo0a
https://dl.doubtnut.com/l/_w8hzBDd9ROok

2.Find the area of the region bounded by the curve y? = 4zand

the linex = 3.

° Watch Video Solution

3. Using integration, find the area bounded between the parabola

z? = 4y and the liney = 4.

° Watch Video Solution

4. Examples: Find the area of the region bounded by the curve

y? = 2y — x and the y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_Mr7XeaevH2kg
https://dl.doubtnut.com/l/_l7fiqmL2w3Hb
https://dl.doubtnut.com/l/_AsMWNPCtbixE

5. (i) Find the area bounded by y = 3z + 2, the x-axis and the
ordinatesz = — 2 and =z = 1.
(ii) Find the area bounded by y = z, the x-axis and the line

z= —1and z = 2.

° View Text Solution

4

6.(ly==z",x =1, =5 and x-axis

2

(ily=2a", ¢ =0,z = 2 and x-axis

(i) y = z? — 4, x = 0, x = 3 and x-axis

2

(iviy =2, ¢ = 2,z = 4 and x-axis.

° View Text Solution

7.Find the area of the region bounded by ¢ = 9z, z = 2, 2 = 4

and the x-axis in the first quadrant.


https://dl.doubtnut.com/l/_4cXproQ23WQy
https://dl.doubtnut.com/l/_163CP2qXZraP
https://dl.doubtnut.com/l/_2LrYw9pyXtfD

° Watch Video Solution

8. Find the area bounded by the curve y = 4z =0,z =1

and y = 4 in first quadrant.

° Watch Video Solution

9. Find the area under the curve y = (:cz + 2)2 + 2z between

the ordinates x =0 and x=2"

° Watch Video Solution

10. Find the area of the region in the first quadrant enclosed by x-

axis, line z = 1/3yand the circle z* + ¢* = 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_2LrYw9pyXtfD
https://dl.doubtnut.com/l/_FY5nH4B5K324
https://dl.doubtnut.com/l/_30vC2H8JJvZn
https://dl.doubtnut.com/l/_MAYw6iWRsNNO

11. Prove that area of the smaller part of the cirlce 2% + y? = a?

a a2

cut off by the linex = — is — (7 — 2) sq. units.

/2 4

° Watch Video Solution

12. Determine the area under the curve y = v/a? — z? included

between the lines x =0 and x = a.

° Watch Video Solution

13. Determine the area enclosed between the curve

2y
y=cos2z,0 <z < 1 and the co-ordinate axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_MAYw6iWRsNNO
https://dl.doubtnut.com/l/_f60xAnWkjVbl
https://dl.doubtnut.com/l/_8W1dEZCDHKvO
https://dl.doubtnut.com/l/_hTSJGNjki2g3
https://dl.doubtnut.com/l/_RcjZg0Z7hDwg

14. Calculate the area bounded by the curve:

f(z) = sin? %, axis of x and the ordinates: x = 0, x = 3

° Watch Video Solution

15. Draw a rough sketch of the curve y = cos® z in [0, 1] and find
the area enclosed by the curveithe lines z = 0, x = 7 and the x-

axis.

° Watch Video Solution

16. (i) Make a rough sketch of the graph of the function
T

y=sinz,0 <z < 5 and determine the area enclosed

between the curve, the x-axis and the line z = g

(ii) Find the area bounded by the curve:


https://dl.doubtnut.com/l/_RcjZg0Z7hDwg
https://dl.doubtnut.com/l/_7BUjlgLXz4L7
https://dl.doubtnut.com/l/_AcOEig58MdCP

(I)y =sinz (II)y = cosz

bewtween x = 0 and = = 2.

° Watch Video Solution

17. Make a rough sketch of the graph of the function
s
y=2sinz,0 <z < 3 and determine the area enclosed

e
between the curve, the x-axis and the line x = 5

° Watch Video Solution

18. (i) Draw a rough sketch of y = sin 2z and determine the area

Y 3

enclosed by the curve, x-axis and the lines z = 1 and ¢ = ik

(ii) Draw the graph of y = cos 3z, 0 < = < % and find the area

between the curve and the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_AcOEig58MdCP
https://dl.doubtnut.com/l/_3ElRIdvfqcQT
https://dl.doubtnut.com/l/_IXQAaeFfYgue

19. Make a rough sketch of the graph of y = cos?z,0 < z < %

and find the area enclosed between the curve and the axes.

° Watch Video Solution

20. Find the area bounded by the cirxle z> + y*> = 16 and the

line y=x in the first quadrant .

° Watch Video Solution

21.Find the area of the smaller part of the circle 2% + y? = a®cut

off by the line z = 2

2

° Watch Video Solution



https://dl.doubtnut.com/l/_IXQAaeFfYgue
https://dl.doubtnut.com/l/_3IEpjIZtGVsd
https://dl.doubtnut.com/l/_XMGu0OFMqowy
https://dl.doubtnut.com/l/_pvAejN6g0Jn8

22. Find the area under the given curves and given lines:(i)

Y= 22,z =1,z = 2and x-axis(ii) Yy = zt x = 1,z = 5and x-

axis

° Watch Video Solution

23. Draw the rough sketch of 4> + 1 = z, = < 2. Find the area

enclosed by the curve and the linez = 2.

° Watch Video Solution

24.Find the area of the region bounded by the ellipse :

.’132 y2
)

(b)(i)16z* + 9y* = 144

(i) 422 + 25y% = 1.

r. Y


https://dl.doubtnut.com/l/_DzXudhSZ70mW
https://dl.doubtnut.com/l/_WFmyJV9NPT1F
https://dl.doubtnut.com/l/_jXiss0BnEE7P
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25. Find the area between the curve — —|— y— =1 and the x-

a? b?

axis between £ = 0 and * = a. Draw rough sketch of the curve

also.

° Watch Video Solution

26. Find the area of the region bounded by the ellipse

2 9P
__|_b_2:1

° Watch Video Solution

27. Sketch the region {(z, y) :4z* + 9y = 36} and find its area,

using integration.

° Watch Video Solution



https://dl.doubtnut.com/l/_jXiss0BnEE7P
https://dl.doubtnut.com/l/_x58SRfbNtbYX
https://dl.doubtnut.com/l/_wNqMzFj2Q256
https://dl.doubtnut.com/l/_JALyuiytTHxY

28.Find the area bounded by the circle x 2 + y2 = 16 and the line

3y =x in the first quadrant, using integration.

° Watch Video Solution

1. Draw a rough sketch of the curves y=sin x and y= cos x as x

7r
varies from O to D) and find the area of the region enclosed

between them and the x-axis

° Watch Video Solution



https://dl.doubtnut.com/l/_JALyuiytTHxY
https://dl.doubtnut.com/l/_JCg0t8rjbovw
https://dl.doubtnut.com/l/_w02YPYoZO76P

2. Using the method of integration find the area bounded by the

curve |z| + |y| = 1.

o Watch Video Solution

3. Using integration, find the area of the region bounded by :
()(1,0), (4,5) and (6, 3)

(i) (1,0), (2,2) and (3,1)

(i( —1,2), (1,5) and (3, 4)

(iv) (2, 3), (3,5) and (3, 4)

(v) (= 1,0), (1,3) and (3,2)

(i) (1,3), (2,5) and (3, 4)

(vii) (4, 1), (6,6) and (8, 4)

(viii) (2, 5), (4, 7) and (6, 2)

(ix) (— 2,1), (0,4) and (2, 3)

(x) (2,1),(3,4) and (5, 2).

r h |


https://dl.doubtnut.com/l/_4gBZHRh8qTm3
https://dl.doubtnut.com/l/_eBM2uAqDs7ub

| ° View Text Solution

4. Using the method of integration, find the area of the region
bounded by the following lines

3r—y—3=02r+y—12=0,z—2y—1=0.

° Watch Video Solution

5. Find the area of the region bounded by the line y = 3z + 2,

the x-axis and the ordinatesz = — landz =1

° Watch Video Solution

6. Find the area of the region:
i) {(z,9):2* <y <z}

(ii) {(m, y):ar:2 <y< |:13|}


https://dl.doubtnut.com/l/_eBM2uAqDs7ub
https://dl.doubtnut.com/l/_PB2JC7IrG8C7
https://dl.doubtnut.com/l/_nSq6LkD8s7kx
https://dl.doubtnut.com/l/_UTyDPTw6ygA0

° View Text Solution

7. Consider the fractions:
f(z) = [z] =1 and g(z) = 1 — [z].
(a) Find their graphs and shade the closed region between them

(b) Find the area of their shaded region.

° Watch Video Solution

8. Using integration, find the area of the region bounded
between :
(i) the line £ = 2 and the parabola y2 = 8z

(ii) the line x = 3 and the parabola y2 = 4z.

° Watch Video Solution



https://dl.doubtnut.com/l/_UTyDPTw6ygA0
https://dl.doubtnut.com/l/_ehahOzfXd0w2
https://dl.doubtnut.com/l/_xVcYSucV4B1X
https://dl.doubtnut.com/l/_FOFDQl2XAoeO

9. Find the ara of the region bounded by :

(i) the parabola y = 22 and the line y==cx

(i) the parabolay? = z and linez + y = 2

(iii) the curve 2% = 4y and the straight line z = 4y — 2
(iv) the parabola y2 = 4az and the chord y = mz

(v) the parabola y2 = 4ax and its latus-rectum

(vi) the parabola (I)y* = 8z(II)y* = 6z and the latus rectum.

° View Text Solution

10. Find the area of the region bounded by the parabola 2% = y,

the line y = = + 2 and the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_FOFDQl2XAoeO
https://dl.doubtnut.com/l/_x9NdiAKB12Sd

11. The area between z = y?and z = 4is divided into two equal

parts by the linexz = a, find the value of a.

° Watch Video Solution

12. Draw a rough sketch of the region enclosed between the
curve y?> = 4z and the line y = 2z. Also, determine the area of

the region.

° Watch Video Solution

13. Find the area of the region bounded by the curve y = 2%and

the liney = 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_4kVuMkflKsBl
https://dl.doubtnut.com/l/_YmkHSIx42NlT
https://dl.doubtnut.com/l/_U6Pzw2PigRg2
https://dl.doubtnut.com/l/_TB5sDjgsFNmM

14. Find the area enclosed between the straight line y = = + 2

and the curve z2 = y.

° Watch Video Solution

15. Find the area of the smaller region bounded by the ellipse

2 2
x——l—z—z—landthellne——l—%:l

° Watch Video Solution

16. Draw the rough sketch and find the area of the region:

{(z,y):42®> +y* < 4,2z +y > 2}

° View Text Solution



https://dl.doubtnut.com/l/_TB5sDjgsFNmM
https://dl.doubtnut.com/l/_aaxxd4h8WMdM
https://dl.doubtnut.com/l/_we4WOsd0tZGO

17. (a) Draw the rough sketch and find the area of the region
included between the parabolas :

(i) y*> = 4z and 2% = 4y

(ii) y2 = 9z and 22 — 9y

(iii) y? = 16z and z? = 16y.

(b) Find the ratio in which the area bounded by the curves

y?> = 12z and z® = 12yis divided by the line z = 3.

° Watch Video Solution

18. Using integration calculate the area of the region bounded by

the two parabolas y = z% and z = 3/*

° Watch Video Solution



https://dl.doubtnut.com/l/_cYlvLWroOirB
https://dl.doubtnut.com/l/_Q5n96jfrogGf

19. Using integration, find the area of the region enclosed

between the circles 2> + ¢ =1 and (¢ — 1)* + > =1

° Watch Video Solution

20. Show that the areas under the  curves
f(z) = cos’z and f(z) = sin’z between z =0 and z =7

arel:1.

° Watch Video Solution

21.Find the area of that part of the circle x* + \ y? = 16 which is

exterior to the parabola y? = 6x.

° Watch Video Solution



https://dl.doubtnut.com/l/_hMJlkyjwqWwQ
https://dl.doubtnut.com/l/_2kBeI4mTtCnx
https://dl.doubtnut.com/l/_PQhJIZvrA6w4
https://dl.doubtnut.com/l/_FPCEuWsGavjI

22. Calculate the area enclosed in the region
(i) {(m,y)::c2 +y2 <1< ac—l—y}

(ii) {(w, y):x? 4+ y? < 4z, dx? + 47 < 9}
(iii) { (z, y) : 2> + y* < 16,2° < 6y}

(iv) {(z,y):y* < 6az, z* + y* < 16a’}

W) {(z,y):2” +y* < 8, 2% < 2y}.

o View Text Solution

23. Find the area of region

{(m,y):O§y§w2—|—1,0§y§x+1,0§w§2}.

° Watch Video Solution

24.Find the area of the region given by :

{(z,y):2% <y < |z]}.


https://dl.doubtnut.com/l/_FPCEuWsGavjI
https://dl.doubtnut.com/l/_KhItB8ZIE4Ms
https://dl.doubtnut.com/l/_c9VHhaWE7sUl

(ii) Find the area bounded by thte curves :
{(z,9):y > 2* and y = |x[}.
(iii) Find the area of the region bounded by the parabola

y =z and y = |z|.

° View Text Solution

25. Using integration, find the area of the region bounded by the
following curves, after making a rough sketch:
My=1+|z+1,z= —3,z2=3,y=0

iy=1+|z+1,z= —2,z =3,y =0.

° Watch Video Solution

Objective Type Questions


https://dl.doubtnut.com/l/_c9VHhaWE7sUl
https://dl.doubtnut.com/l/_1Uj0cTukmZWw

1. Area lying in the first quadrant and bounded by the circle

z? +y> = 4andthelinesz = 0 and = = 2is:

>
)

N
&Y oy o]y

Answer: A

o Watch Video Solution

2. Area of the region bounded by the curve 3> = 4z , y-axis

, , 9 9 9
andtheliney = 3is(A)2(B) 1 (Q) 3 (D) 3

A2


https://dl.doubtnut.com/l/_SpX2XfPkCsCK
https://dl.doubtnut.com/l/_jeuhL8OkKp90

@

O N
N O wlo o

Answer: B

° Watch Video Solution

3. Smaller area enclosed by the circle z? + y* = 4and the line
z +y = 2is(A) 2(m — 2) (B) m — 2 (C) 2r — 1 (D) 2(7 + 2)

A 2(m — 2)

B.m— 2

C.2r —1

D.2(m + 2)


https://dl.doubtnut.com/l/_jeuhL8OkKp90
https://dl.doubtnut.com/l/_9l5a9zoZh0wv

Answer: B

° Watch Video Solution

4. Area lying between the curves y? = 4z and y = 2is :

Ao = W= W N

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_9l5a9zoZh0wv
https://dl.doubtnut.com/l/_7Lr6yzAktoHA

5. Area bounded by the curve y = 22, the xaxis and the

ordinatesz = — 2 and z = 1is:

Answer: D

o Watch Video Solution

6. The area bounded by the curvey = =z | =z |, x-axis

and the ordinates * = landx = 1is given by (A)
1 2 4 . 92 . 2

O(B)§(C)§(D)§[H|nt:y:w ifz > Oandy= —=z

ife < O]


https://dl.doubtnut.com/l/_3WkxsNd1dUGW
https://dl.doubtnut.com/l/_dVpZxnYERuEM

>
o

Wk W w| =

Answer: C

o Watch Video Solution

7. The area of the circle 2% + y* = 16exterior to the parabola

—~~
N
3

|

V)

B.

(7 + 3)

N
Wk Wk W

—~~
Qo
3

!

V)


https://dl.doubtnut.com/l/_dVpZxnYERuEM
https://dl.doubtnut.com/l/_GdBu39SChpMl

D. < (87 + 3)

Answer: C

° Watch Video Solution

8.Find the area enclosed by the circle % + 3* = 25

A. 47 sq. units
B. 24/27 sq. units
C. 472 sq. units

D. 27 sq. units

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_GdBu39SChpMl
https://dl.doubtnut.com/l/_ExdkAJlpctW9
https://dl.doubtnut.com/l/_Fac9iKSPh9XR

2 2

9.Find the area enclosed by the ellipse as_ + ?;2 =1

A m2ab
B. mab
C.ma’b

D. rab®

Answer: B

° Watch Video Solution

10. The area of the region bounded by the curve y = 2 and the

liney = 16 is :

A32
3

B256
-3


https://dl.doubtnut.com/l/_Fac9iKSPh9XR
https://dl.doubtnut.com/l/_njyMhj9j8bz8

Answer: B

° Watch Video Solution

1. The area of the region bounded by the vy-axis,
™ .
y=cosz and y =sinz,0 <z < 0l is:
A. /2 sq. units
B. (\/ﬁ + 1) sg. units
C.v/2(v/2 — 1) sq. units

D. (2\/5 — 1) sg. units

Answer: C



https://dl.doubtnut.com/l/_njyMhj9j8bz8
https://dl.doubtnut.com/l/_PoRmIfo6emj3

[ @ \Watch Video >olution ]

12. The area of the region bounded by the curve z*> = 4y and the
straight linexz = 4y — 2is

sq. units

sq. units

sq. units

©|©w |3 oo|wt oo|w

sq. units

Answer: D

° Watch Video Solution

13. Area bounded by the curve y = f(xz) and the lines

x = a, = bandthexaxis is:


https://dl.doubtnut.com/l/_PoRmIfo6emj3
https://dl.doubtnut.com/l/_YnWl2C5v9jxS
https://dl.doubtnut.com/l/_wLSUhpNnof6v

Answer: D

° Watch Video Solution

14. The area enclosed by the:

2 2
ellipse ol + W lis:
A mab
4
B. 4mab
C.mab

D. None of these


https://dl.doubtnut.com/l/_wLSUhpNnof6v
https://dl.doubtnut.com/l/_kC7tHlwUgR9u

Answer: C

° Watch Video Solution

15. Find the area enclosed by the circle z? + y? = a?.

C. 4ma’®

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kC7tHlwUgR9u
https://dl.doubtnut.com/l/_tzsiims6eEs0

16. Find the area of the region bounded by the curve y? = zand

the lines x = 1, x = 4and the x-axis.

C.7

D. None of these

Answer: B

° Watch Video Solution

17. The area of the circle 2% 4+ y* = a?is :

A . Ta

B.2ma


https://dl.doubtnut.com/l/_yvFXkUtQxmdO
https://dl.doubtnut.com/l/_h56BOPs41Zgr

C.2ma’?

D. None of these

Answer: A

° Watch Video Solution

18. The area between the curve y = z?, x-axis and the lines

z=0and £ = 2is:

A 2 it
. — sd. units
3 >4
B. 4 sq. units
C 8 it
. — sg. units
3 q
D és units
-3 g.
Answer: C



https://dl.doubtnut.com/l/_h56BOPs41Zgr
https://dl.doubtnut.com/l/_ksjGagKrawvX

[ @ \Watch Video S>olution ]

19. The area of the region bounded by the parabola y?> = 9z and
theliney = 3z is:
A L it
- 59 units
B. 3 sq. units
C. 759 units

D 2 it
- 3 S0 units

Answer: A

° Watch Video Solution

20.The area bounded by the curve y = 4sinz, x-axis fromz = 0

tox = misequalto:


https://dl.doubtnut.com/l/_ksjGagKrawvX
https://dl.doubtnut.com/l/_k2ykNcBlcwn6
https://dl.doubtnut.com/l/_d6endBD4XO0Q

A.1sq. units

B. 2 sq. units

C. 4 sq. units

D. 8 sq units

Answer: D

O Watch Video Solution

Objective Type Questions Fill In The Blanks

1. The area of the quadrant of the circle z? +vy*> =4 is

o Watch Video Solution



https://dl.doubtnut.com/l/_d6endBD4XO0Q
https://dl.doubtnut.com/l/_tCTMZWsaZbvm

2.Find the area enclosed by the circle 22 + y* = a?.

° Watch Video Solution

3. The area of the parabola 3? = 4axz bounded by the

latusrectum is

° Watch Video Solution

2

4. The area bounded by y =2z ¢z =0,z = 2 and x-axis is

° Watch Video Solution



https://dl.doubtnut.com/l/_DEw9StXDCjDv
https://dl.doubtnut.com/l/_bYNtUzS7Oduc
https://dl.doubtnut.com/l/_1gFSrfzh7COS

5. Calculate the area under the curve y = 2,/z included between

the linesx=0and x=1.

° Watch Video Solution

Objective Type Questions True False

1. The area of the region bounded by y = =

4,w:1,x:5and

x-axis is 625 sq. units.

° Watch Video Solution

2. Find the area under the curve y = (wz + 2)2 + 2z between

the ordinates x =0 and x=2"

° Watch Video Solution



https://dl.doubtnut.com/l/_UGAHGQcexC6a
https://dl.doubtnut.com/l/_f7jteUcOzFH9
https://dl.doubtnut.com/l/_SmtqKU5EorbS

™

3. The area enclosed by the curvey y = cos2z,0 < =z < 1 and

co-ordinate axes is 1 sg. unit.

° Watch Video Solution

4. Area bouinded by |z| 4 |y| = 1is 2 sq. units.

° Watch Video Solution

1
5. Area bounded by y = z? and line y==wxis 1 sq unit.

° Watch Video Solution

Objective Type Questions Short Answer Type Questions



https://dl.doubtnut.com/l/_SmtqKU5EorbS
https://dl.doubtnut.com/l/_a6tvyXBVcjcf
https://dl.doubtnut.com/l/_9b19x1H9s1Nj
https://dl.doubtnut.com/l/_XLTqxM05aYNH
https://dl.doubtnut.com/l/_8ze5QCw0xaCl

1. Find the area of the region bounded by the curve y = z* and

the liney = 4.

° Watch Video Solution

2. Find the area bounded by the parabola y* = 4ax, latus-

rectum and x-axis.

° Watch Video Solution

3. Area (in square units) of the region bounded by the curve

y? = 4z, y-axis and the liney = 3, is

° Watch Video Solution



https://dl.doubtnut.com/l/_8ze5QCw0xaCl
https://dl.doubtnut.com/l/_rq3AaNLolgiX
https://dl.doubtnut.com/l/_ocMTxLNrvMY3

4.The area (in square units) bounded by the curve y = 23, the x-

axis and the ordinatesatz = — 2 and £ = 1is

° Watch Video Solution

5.Find the area under the curve y = 2,/x between the ordinates

y=0and z = 1.

° Watch Video Solution

6. The area in square units of the region bounded by the curve

z? = 4y, the line x=2 and the x-axis, is

° Watch Video Solution



https://dl.doubtnut.com/l/_hSixCh0vpqfZ
https://dl.doubtnut.com/l/_tj1bTMNHt8jc
https://dl.doubtnut.com/l/_3Lyihi4aV3QN

7. Find the area bounded by the parabola z = 4 — 3* and y -

axis.

° Watch Video Solution

8. Find the area bounded by the parabola z =4 — 3 and vy -

axis.

° Watch Video Solution

9.The area bounded by the parabola y? = 8z, the x-axis and the

latusrectum, is

° Watch Video Solution



https://dl.doubtnut.com/l/_l6BDbUHdtxbs
https://dl.doubtnut.com/l/_Xk4I7Z3352q1
https://dl.doubtnut.com/l/_OHzfKaVj4xbS

10. Find the area enclosed between the curve

T
y=cosz,) <z < 1 and the co-ordinate axes.

° Watch Video Solution

11. Find the area enclosed between the curve

7y
Yy = cos> z,0< < B and the co-ordinate axes.

° Watch Video Solution

12. Area between the x-axis and the curve y = cosz, when

0<z<2mis(A)0(B)2(C)3(D)4

° Watch Video Solution



https://dl.doubtnut.com/l/_M9EC05Ex3m0M
https://dl.doubtnut.com/l/_9vGNUSpY4TCu
https://dl.doubtnut.com/l/_9Z8rfG8wvcwn

13. The ratio of the areas between the curves

s
y = cosx and y = cos 2z and x-axis fromz = 0tox = 3 is

0 Watch Video Solution

14. Find the area of the region bounded by the points

(3,0), (4,5) and (5,1).

° Watch Video Solution

15. The area of the region {(a;, y):zi 4P <1<z+ y} ,is

° Watch Video Solution

Questions From Ncert Book Exercise 8 1


https://dl.doubtnut.com/l/_SkzJdBuilviP
https://dl.doubtnut.com/l/_0b1b0PY1fFYF
https://dl.doubtnut.com/l/_aCQ6sFD0TR5C
https://dl.doubtnut.com/l/_EQ76hu7TJ9u2

1. Find the area of the region bounded by the curve y* = zand

the lines x = 1, ¢ = 4and the x-axis.

° Watch Video Solution

2.Find the area of the region bounded by v  =8z,x =2,z =4

and the x-axis in the first quadrant.

° Watch Video Solution

3. The area of the region bounded by z? = y—2,y=4,y==6

and the Y-axis in the first quadrant is

° Watch Video Solution



https://dl.doubtnut.com/l/_EQ76hu7TJ9u2
https://dl.doubtnut.com/l/_CkMUhx4DGEgF
https://dl.doubtnut.com/l/_pfgivci4hFkg

4. Find the area of the region bounded by the ellipse

$2

2

)
— 4+ — =1
1+9

° Watch Video Solution

5. Find the area of the region bounded by the ellipse

2 2
Z
__|_y

it =t

vy

° Watch Video Solution



https://dl.doubtnut.com/l/_P0mErTND1bis
https://dl.doubtnut.com/l/_qIkdKSuVLANB

6. Find the area of the region in the first quadrant enclosed by x-

axis, line z = 1/3yand the circle z° + ¢* = 4.

° Watch Video Solution

7. Find the ara of the smaller part of the circle z? + y* = a? cut

off by the line z = 2.

V2

° Watch Video Solution

8. The area between z = y?and z = 4is divided into two equal

parts by the linex = a, find the value of a.

° Watch Video Solution



https://dl.doubtnut.com/l/_rX4hk6mVhEX1
https://dl.doubtnut.com/l/_TnNLatDH5jrS
https://dl.doubtnut.com/l/_Vn1kknmv672D

9. Find the area of the region bounded by the parabola y = z?

andy = |z|.

° Watch Video Solution

10. Find the area bounded by the curve z? = 4y and the straight

linex = 4y — 2.

° Watch Video Solution

11. Find the area of the region bounded by the curve y?> = 4zand

the linexz = 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_vmKV978MGT6r
https://dl.doubtnut.com/l/_GGnnfcPJtBek
https://dl.doubtnut.com/l/_QsDH4ToxQSXV

12. Area lying in the first quadrant and bounded by the circle

2

T +y2

= 4andthelinesz =0 and z = 2is

>
)

&Y w3 |y

Answer: A

o Watch Video Solution

13. Area of the region bounded by the curve 3> = 4z , y-axis

, , 9 9 9
andtheliney = 3is(A)2(B) 1 (Q) 3 (D) 3

A2


https://dl.doubtnut.com/l/_tTsSVr1lVnBy
https://dl.doubtnut.com/l/_FBLyD5Bh2Wi0

w

O N
N O wlo o

Answer: B

° Watch Video Solution

Questions From Ncert Book Exercise 8 2

1. Find the area of the circle 4z% + 4y* = 9which is interior to

the parabola z? = 4y.

o Watch Video Solution



https://dl.doubtnut.com/l/_FBLyD5Bh2Wi0
https://dl.doubtnut.com/l/_TeV1lHiS5AX5

2. Find the area bounded by curves (z — 1)2—|—y2 = land

x2+y2=1.

° Watch Video Solution

3.Find the area of the region bounded by the curves y = z + 2,

y =z, = Oandx = 3.

° Watch Video Solution

4. Using integration find the area of region bounded by the

triangle whose vertices are (1, 0), (1, 3)and(3, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_BytYm15D198N
https://dl.doubtnut.com/l/_Ef790KkCun03
https://dl.doubtnut.com/l/_wzWyO4XfHXhS

5.Using integration find the area of the triangular region whose

sides have the equationsy = 2z + 1,y = 3z + land z = 4.

° Watch Video Solution

6. Smaller area enclosed by the circle % 4 y* = 4 and line x+y=2
is

A 2(m — 2)

B.m— 2

C.2r —1

D.2(m + 2).

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6gVHZs9jwlf1
https://dl.doubtnut.com/l/_jJ0J1RiNZ07I

7.Find area lying between the curves y> =4z and y =2z is

Bl R wR w|N

Answer: B

° Watch Video Solution

Miscellaneous Exercise On Chapter

1. Find the area under the given curves and given lines:(i)

2 4

y=z ¢ =1 = 2and x-axis(ii) y=2, £ = 1, x = 5and x-

axis


https://dl.doubtnut.com/l/_OTYOraOKnzsO
https://dl.doubtnut.com/l/_DUIYMGMksI2V

0 Watch Video Solution

2.Find the area between the curve y = z and y = 22

° Watch Video Solution

3. Find the area of the region lying in the first quadrant and

bounded by y = 42z = 0,y = landy = 4.

° Watch Video Solution

4. Sketch the graph of y = |z + 3|and evaluate/— 60|z + 3|dz.

° Watch Video Solution



https://dl.doubtnut.com/l/_DUIYMGMksI2V
https://dl.doubtnut.com/l/_o0kEBsLNkKu1
https://dl.doubtnut.com/l/_VsOJdGdnSzO4
https://dl.doubtnut.com/l/_zB6HktWxdQUK

5. Find the area bounded by the curve y = s& =z

betweenz = (QOandzxz = 27.

° Watch Video Solution

6. Find the area enclosed between the parabola y?> = 4azand the

liney = mz.

° Watch Video Solution

7. Find the area enclosed by the parabola 4y = 32 and the line

2y = 3z + 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_juQjjflwxRed
https://dl.doubtnut.com/l/_kzAqRbpCasGS
https://dl.doubtnut.com/l/_GPMR7xxX63dw

8. Find the area of the smaller region bounded by the ellipse

2132

2
y _ o2 Y
9 + 1 —1andtheI|ne3+2—1

° Watch Video Solution

9. Find the area of the smaller region bounded by the ellipse
2y

= land the line i + y =1
a,2 a b

° Watch Video Solution

10. Find the area of the region enclosed by the parabola =y

and the liney = x+ 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_1U3MpYCNtLJU
https://dl.doubtnut.com/l/_zq1QNXD3U8ld
https://dl.doubtnut.com/l/_0XjBXfHCZnqL

11. Using the method of integration find the area bounded by the

curve |z| + |yl = 1.[Hint: The required region is bounded
by lines
z + y =1 x vy = 1, T + y =
and z y = 1]

° Watch Video Solution

12. Find the area bounded by curves

{(z,y):y > z* and y = |z|}.

° Watch Video Solution

13. Using the method of integration find the area of the triangle

ABC, coordinates of whose vertices are A(2, 0), B (4, 5) and C (6, 3).

| o WMiabkll . \ 2 daa .kl a


https://dl.doubtnut.com/l/_lTDZn86aQDqt
https://dl.doubtnut.com/l/_cSJ4pVFurg2Z
https://dl.doubtnut.com/l/_Bl78gQU369c6

L ¥Yvdlilll VIUCUV JUVIULIVII )

14. Using the method of integration find the area of the region

bounded by lines:2z + y = 4, 3z2y = 6and 23y + 5 =0

° Watch Video Solution

15. Find the area of the region {(a:, y):y® < 4z, 42 + 4y? < 9}

° Watch Video Solution

16. Area bounded by the curve y = z3, the x-axis and the

, , ~15 15 17
ordinates £ = 2and = = 1lis(A) —9 (B) 1 (C) T (D) T


https://dl.doubtnut.com/l/_Bl78gQU369c6
https://dl.doubtnut.com/l/_mKj7IMJiT0PW
https://dl.doubtnut.com/l/_2yMEybzSZbBv
https://dl.doubtnut.com/l/_cs089bbRSlD3

Answer: D

° Watch Video Solution

17. The area bounded by the curvey =

= x | =z |,xaxis
and the ordinates * = landxz = 1is given by (A)
2 4 . 2 . 2
OB)=(C) =(D) = [Hint:y=z"ifz > Oandy= —=x
3 3 3
ifz < O]
A.O0
B.

W Wl w



https://dl.doubtnut.com/l/_cs089bbRSlD3
https://dl.doubtnut.com/l/_CFsXHMpJJsqv

Answer: C

° Watch Video Solution

18. The area of the circle 2 + y* = 16exterior to the parabola

y? = 6zis(A) §(47r —/3) (B) %(4% +4/3)(0) §(87r —/3) (D)
(67 +3)

A. %(4# — \/3)

B. %(4% + \/3)

C. %(8# — \/§)

D. %(8% +/3)
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CFsXHMpJJsqv
https://dl.doubtnut.com/l/_hr7irzfQAhlm
https://dl.doubtnut.com/l/_ZGvM9FwqMSoq

19. Find the area bounded by  the y-axis,

y = cos z, andy = sinzwhen0 < x <

no| 3

A2(v2-1)
B.y/2 — 1
C.y2+1
D. /2

Answer: B

° Watch Video Solution

Questions From Ncert Examplar

1. The area of the region bounded by the curve ay? = 3, the Y-

axis and the lines y=a and y = 2a, is



https://dl.doubtnut.com/l/_ZGvM9FwqMSoq
https://dl.doubtnut.com/l/_EooIvUc7yjb5

| ° Watch Video Solution

2. Find the area of the region bounded by the parabola 3* = 2z

and straight linez — y = 4.

° Watch Video Solution

1. Calculate the area of the region bounded by the parabolas

y? = 6zandz® = 6y.

° Watch Video Solution



https://dl.doubtnut.com/l/_EooIvUc7yjb5
https://dl.doubtnut.com/l/_mDOhUj4tcxR7
https://dl.doubtnut.com/l/_UJB8buWnxSiu

2.Find the area of the region bounded by the curve z = at® and

y = 2at between the ordinates correspondingtot=1and t = 2.

° Watch Video Solution

3. Find the area enslosed by the curve:

x = 3cost,y = 2sint.

° Watch Video Solution

Revision Exercise

1. Find the area enclosed by the parabola 4y = 32? and the line

2y = 3z + 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_5ZwOzmSPie1n
https://dl.doubtnut.com/l/_WxCa1P9tJ3pr
https://dl.doubtnut.com/l/_YfF8IrgYH0cd

2.Find the area of the region bounded by the curve y*> = 4zand

the linexz = 3.

o Watch Video Solution

3. Prove that the curves y? = 4zand z? = 4ydivide the area of
the square bounded by z = 0, x = 4, y = 4andy = Ointo three

equal parts.

o Watch Video Solution

4.Draw the diagram to show the area enclosed by the curves :
2 _ 2 _
y° = 16z and x° = 16y.
The straight line x = 4 divides the area into two parts. Find the

area of the larger portion by integration.



https://dl.doubtnut.com/l/_YfF8IrgYH0cd
https://dl.doubtnut.com/l/_YXjunlgpT4Uy
https://dl.doubtnut.com/l/_yi3u2FWwRuFi
https://dl.doubtnut.com/l/_GLikQLE3wfMd

| ° Watch Video Solution

5. In Figure, AOBA is the part of the ellipse 922 + 3* = 36in the
first quadrant such that OA = 2andOB = 6. Find the area

between the arc AB and the chord AB.

° Watch Video Solution

6. Sketch the region enclosed between the circles
22+ y>=1and (z —1)> +¢?> =1, which lies in the first

quadrant. Also, find the area of the region.

° Watch Video Solution

7. Draw a rough sketch of the following region and find the area

enclosed by the region, using method of integration :


https://dl.doubtnut.com/l/_GLikQLE3wfMd
https://dl.doubtnut.com/l/_R2M23vYAfkq3
https://dl.doubtnut.com/l/_xZpXFQxP4K3g
https://dl.doubtnut.com/l/_37M9tec1S3ag

{(=, y):y? < 5z, 5z® + 5y? < 36}.

° Watch Video Solution

8. Find the area bounded by y =1+ 2sin® z, X-axis, X = 0

and x = .

° Watch Video Solution

Check Your Understanding

1.Is the parabola y* = 42 symmetrical about x-axis ?

° Watch Video Solution

2.1s the circle 22 4+ y* = r? symmetrical about the liney = z ?


https://dl.doubtnut.com/l/_37M9tec1S3ag
https://dl.doubtnut.com/l/_xP7BJv4hzb4q
https://dl.doubtnut.com/l/_SPDhZwAfGOcs
https://dl.doubtnut.com/l/_qNzPVomW49mB

o Watch Video Solution

3. Find the area enclosed by the circle % 4+ y? = 9.

° Watch Video Solution

4.Find the area of the semi-portion of the circle z* + 3* = 4.

° Watch Video Solution

5. Find the area of the region bounded by y = ac4, zr=1z=5

and x-axis.

o Watch Video Solution

Competition File



https://dl.doubtnut.com/l/_qNzPVomW49mB
https://dl.doubtnut.com/l/_ff09YNeLYMSA
https://dl.doubtnut.com/l/_fFQrQN9BHm9P
https://dl.doubtnut.com/l/_MKD1iK7IGatv

1. The area of the plane region bounded by the curves

z + 2y = 0and z + 3y® = 1lis equal to

Wl Wk w|ot Wk

Answer: A

° Watch Video Solution

2. The area of the region bounded by the parabola
(y — 2)°> = ¢ — 1, the tangent to the parabola at the point

(2, 3) and the x-axis is


https://dl.doubtnut.com/l/_FImq1pYQDCjv
https://dl.doubtnut.com/l/_uyFcEFrHjQ8D

A.6

B.9

C.12

D.3

Answer: C

° Watch Video Solution

3. The area bounded by the curves y = cosx and y =sinz

3
between the ordinates x = Qand z = > is

A 42 —2
B.44/2 + 2
C.4v2 -1

D.4y/2 + 1.


https://dl.doubtnut.com/l/_uyFcEFrHjQ8D
https://dl.doubtnut.com/l/_gDidNTysYIFf

Answer: A

° Watch Video Solution

4. The area of the region enclosed by the curves

y=z,z=6y=— and the positive x-axis is

1
A 3 square units

B. 1 square units
C. 3 square units

D. 3 square units

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gDidNTysYIFf
https://dl.doubtnut.com/l/_Yp4gJsGTyNz2

5.The area bounded by the curves y? = 4z and 2% = 4y

® >
s R

0

o
o

Answer: B

o Watch Video Solution

6. The area bounded between the parabolas

z? = % and z? = 9y and the straight line y=2 is

A. 20+/2

104/2
B. T



https://dl.doubtnut.com/l/_oGoqktn5fkU6
https://dl.doubtnut.com/l/_cYNcyiSdgRhE

2
C. 20%

D.10/2

Answer: C

° Watch Video Solution

7. The area (in square units) bounded by the curves
Yy = +/Z,2y — x4+ 3 = 0, xaxis, and lying in the first quadrant
is

A. 36

B.18


https://dl.doubtnut.com/l/_cYNcyiSdgRhE
https://dl.doubtnut.com/l/_KeUylcO9x9k3

Answer: D

° Watch Video Solution

8.The area of the region described by A = {(z,y):2° + y* < 1

andyzgl—az}is:

N
+

O
(Y I T Y I R O B R Y

_I_
Wik W W Wk

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KeUylcO9x9k3
https://dl.doubtnut.com/l/_7SUPeMvClR0f

9. The area (in sqg. units) of the region described by

{(:Iz,y):y2 <2z and y >4z — 1} is-

Answer: D

° Watch Video Solution

10. The area (in sq. units) of the region

{(:zz,y):y2 < 2z and 2% + y® < 4z, x >0,y < 0},is

AT — —



https://dl.doubtnut.com/l/_HzGr0dOojRIm
https://dl.doubtnut.com/l/_chVdHkBEMRe3

4V2

B.m — T
s 24/2
"2 3
D.m— é
3
Answer: A

° Watch Video Solution

M. The area ( in sq. units) of the region

{(:zz,y):a:20,w+y§3,m2§4yandy§1—|—\/5}is:


https://dl.doubtnut.com/l/_chVdHkBEMRe3
https://dl.doubtnut.com/l/_ryqVn6erhXHx

Answer: B

° Watch Video Solution

12. Let g(z) = 2%, f(z) = /7, and a, B(a < B) be the roots
of the quadratic equation 182> — 97z 4+ w2 = 0. Then the area
(is sqg. units) bounded by curve y = (gof)(z) and the lines
r=a,r=0and y=0is:

71.2

4
2

9

24
i

X
"3
i

N O

D. —
72

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ryqVn6erhXHx
https://dl.doubtnut.com/l/_06E2N4v4pu9W

13. The area of the region bounded by the parabola y = z* + 2

and the linesy=x,x=0and x=3 is

A15
S 2

B21
S 2

C15
!

o 1T
"4

Answer: A

° Watch Video Solution

14.Find the area bounded by the curves z? < y<ax+2:


https://dl.doubtnut.com/l/_06E2N4v4pu9W
https://dl.doubtnut.com/l/_OSNfj4c6z1bE
https://dl.doubtnut.com/l/_WeHgaXHrOr77

N w

O
M| ot o N

Answer: C

° Watch Video Solution

Chapter Test

1. Find area lying between the curves vy’ =4z and y=2zis

Bl AR Wk w|


https://dl.doubtnut.com/l/_WeHgaXHrOr77
https://dl.doubtnut.com/l/_uptjavvVDQrE

Answer: B

° Watch Video Solution

2.The area of the region bounded by the curve z* = 4y and the
straight linexz = 4y — 2 is
A > it
. — sq. units
g 4
B. 3 sg. units
C 7 sq. units
- g 54

D. — sqg. units
3 q

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uptjavvVDQrE
https://dl.doubtnut.com/l/_cCVYt7zKDt40

3. The area bounded by the line y = x, X-axis and the lines x =-1,x =

2is

° Watch Video Solution

4. Using integration, find the area of the quadant of the circle

:1:2-|—y2:4.

° View Text Solution

5. Calculate the area under the curve y = 2,/z included between

the linesx=0and x=1.

° Watch Video Solution



https://dl.doubtnut.com/l/_b0kxDntQIOhU
https://dl.doubtnut.com/l/_Yjaw5rysadVX
https://dl.doubtnut.com/l/_mxPEHyHPqnrJ

2 2

6.Find the area enclosed by the ellipse ac_ + — T 1.

° Watch Video Solution

7. Find the area of the region bounded by the curve

y2 = 92, x = 2, z = 4 and the x-axis in the first quadrant.

° Watch Video Solution

8. Using integration, find the area of the triangle ABC whose

vertices are A( — 1, 1), B(0, 5) and C(3, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_ayuTMqR76tuv
https://dl.doubtnut.com/l/_G0czvvZAHNL6
https://dl.doubtnut.com/l/_j4XQeaCfhNRK

9.Find the area, lying above the x=axis and included between the

circle z2 + y? = 8z and the parabola y* = 4z.

° Watch Video Solution

10. Find the area of the region enclosed between the two circles

2 +yP=1land(z —1)*+32 =1

° Watch Video Solution

11. Find the area of the region in the first quadrant enclosed by

the x-axis, the line y = x, and the circle 2 + y2 = 32.

° Watch Video Solution



https://dl.doubtnut.com/l/_VqdA32WQv4fg
https://dl.doubtnut.com/l/_KMZgx4vBLv4s
https://dl.doubtnut.com/l/_7REmRxT5qZn1

12. Find the area of the smaller part of the circle 22 + y* = a%cut

off by the linexz = 2

V2

° Watch Video Solution



https://dl.doubtnut.com/l/_vwAQFPYnIXu9

